— 2022 (A) / 7 9) ey

SSC PART-II (10th CLASS) 0\

MAGHEMATICS (SCIENCE GROUP) GROW-I A A i;l M LJ u"l/) O‘L)
TIME ALLOWED: 2.10 Hours \ \ /sﬁﬂﬁ';bmlyﬁ 210 =
MAXIMUM MARKS: 60 /\\ \ ( \\ 60 = AF
NOTE: Write a\m ee\tl\o\n,\ ‘u&m er _LCJ)U-L/.JU”J?é Z,»/;M/Ulrdudmv )
\\\{N S}Jﬁ’number on answer book, as given in the question paper.
SECTION-| (Jsl.o
2. Attempt any six parts. 12=2x6 _éf/fulifiilib?c_\}f _2 )
(i)  Define quadratic equation. _i_»/&.,uu&uu (i)
(i)  Write the quadratic equation in standard form. (x+7)(x=-3)=-7 -uf{)frlﬁdl,l;vfé'!v&lm (i)
(i) Solve by factorization. x*— x — 20 =0 R Iy -f:./d"c.u&jfw (iii)
(iv) Discuss the nature of the roots of equation. x* + 3x +5=10 X*+3x+5=0 __é&i{(LJJJJ‘LL:J:V (iv)
) Evaluate (1-w-0?) (l—m—mz)7 SEeed W)

w/@;mz)fﬁ,}é Setsr (i)

(vi) Without selving, find the sum and product of roots of equanon )

g "1 "o
O /.J; \x{ﬂ Sxﬁ— 3 x\Of -
\ ",' —~7 (‘""\‘\' ‘/"l ‘-.. ",“ \\ \ “\‘ E‘ l‘\‘f'} 'v J : ) - .
(vii) Define ratio and give ongxample f-\‘ \ \ ‘3\,_{”‘ = _é;d@.@mé_g/&:‘y (vii)
\ \ T ¢
\ \ ", “‘ \\L
(vii) 1f 3(4x ~ )WIJ&‘_ ?}{ \GhHhS Tatio 'ty “Epxyedd 3(4x ~ 5p) = 2x - 7y i)
AR \l \’
(ix) IfRocTzand R=8 when7 =3 A T=6L&M RinT=3_ R=8 . ReT" i (ix)
find R when 7 =6
3. Attempt any six parts. 12=2x6 —_é{f;w_eél:’!l{cdf _3,:Uly
(i)  Define a fraction and give an example. el 2SS ()
(i) Find partial fractions of . — 3 A )
(xee l){@=1) (x+D(x-1)
(i) IfX={1,479}and¥y ={2,4,59) LA XUY e Y ={2,4,59)0X ={1,4,7,9} 4 (i)
then find X V¥
(iv) Define a subset and give one example. -é)ﬁ)l"}'uﬁ»‘e’,{u&.‘fif:{f (iv)
(v) IfL={a b,c}and M = {3, 4} then find ﬂirﬁ”yrudw.ﬂ M x LinM = {3, 4};;!L ={a, b, c}/i (v)
two binary relations of M x L A \ \\ 3!
s 1) CON
(i) Find a and b , if (3 q\a ,\1,)/ (\g‘*g gb\ﬂé) | SSEe powa (i)
£\ \
\\ \ .
(vii) Find the geometric mea@f\r\ﬁe sﬁma\t ﬁé&# ?? SRl L2, 4, 8 e (vil)

(vili) T{QJSQIFZ( i\ﬁJé\l -zfe}v_,ynsoo 12400, 15000, 14500, 14800 Ui}l (UL S J,fwé_k (viii)
a

te in rupees are as given 11500, 12400, 15000, 14500, 14800. Find range.

(ix) Define standard deviation, -é:r-@/‘jd’..ilf'ldzgv (ix)

( ﬂrJ»)



4. Attempt any six parts. -éf/f..tu :..df -4/J!r
(iy  Define radian measure of an angle. @@ e/ ,uJ,-b
(i Express the following sexagesnmal measure l,»‘b,sud':umi;; 'Ws....av (u)
‘ the angle in decimal fg) \ %(3
| (i) W S bWt i
\Jf ) 6
(ivy Find '£' when r=13mm, 0 = 60°30" B =60"30"« r=15%0 .5’-‘ (i)
(v) Define zero dimension. -g.:;_yf’Judﬂ (v)
(vi) Define secant S PSsEe (i)
(vii) Define segment of a circle. -.T.J/Lﬁr/l))”’ (vii)
| (viii) Define circle. S AN (il
| (ix) What is meant by vertex? ?§_)!/l=fé:.u’u (ix)
SECTION-II rr.ﬂ?
| 24=8x3 e 9 »fy%r";é«fu /,é,%w@’;.\}/ BOF,
NOTE: Attempt any three questlon(s> buﬂues(hc(?(ﬂb 9 é(@tﬁpﬁl’é
| 5.(A) Solve the equation 2 2x + S5 = V'H;M / \U wj.c,.ffh +5=Tx+16 =hble (D5
O\ \ ‘.’ﬂ \
T\ (\‘q \\ \ \ "'
(B) \ \xu\{& g ) fjb; e hL»‘le:Uru’u_ ¥ =3x+6=02bl+ B Q@ J ()
]a\m&\ @éﬂon x*=3x + 6 = 0, Fofm an equation whose roots are o ”, p’
B.(A) If a:b=7:6 thenfind the value of -g:rf”’:ffb 3a+5h:7h—3a sa:h=7:6 A (3.6
3a+5b:7b - Sa
2 =3x +1 x*=3x+1 - ,
(B) Resolve into partial fractions. - — -;,[)L}frufu;/d:}.’ (o)
(x-1D*(x- (@ 1 { 52=2)
(B—AY=BUA gl B={1,47,10} # A={1,3,579}.U={1,2,3, =10} S (.7
TA) fU={123 -==10}, A={1,35F,9) and B={1,4,7,10}
thenverify (B - A) =B\ A4
(B)  Calculate variance for the data -g.:{i’ %, #7610, 8, 9,7, 5 12, 8,6 8 2 sr ()
10, 8, 9, 7, 5 12, 8, 6, 8, 2
8.(A)  Verify the identities. [S¢cO +1 _ secB +1 sech - "" gl sec@ @e;yw (N8
YV secO -1 tan0
U A £ 36 ..:}'L 4 Ju r’ J el 2K ABC (L)
(B)  Circumscribe aa@ a o i Q s B' = 6em, [ B =1 = 4cm
9. Prove that a stral my"{}sb‘,:b’ul:f‘._}_n;"u( (s ,b’:?)/sdr 3 //é:m/ ek -9
th Js\e isect a chord (wh|ch is ot a diameter) is perpendicular to the chord.
OR |
Prove that any two angles in the same segment ULl ("L._)vu ;J’ul:.-h’&..ﬂiz_sufigé
of a circle are equal.
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PAPER CODE 2022 (A) N s

NUMBER: 3191 SSC PART-II (10th CLASS) N

MATHEMATICS (SCIENCE GROUP) (GROUPI (| T \\ O\Eﬂ 7 ) Gl
TIME ALLOWED: 20 Mlpute'%ﬂ ‘« \/7 \OéJE\f&Tﬂ}E“ S 20 = o

{ - ~, y=~—"
MAXIMUM MARKS: 15 { \ A\ QLA NS 15= AF
Aol /CL; b-' x Uaf‘if...‘.\_di'\..‘:/‘uc,g’ Ly, 'JL&—JéV{.’—JIF/‘/Lé{JIJ” "o, rf.:..) D » C B A _fl-':’jzlaéulirf - d
)\E o b J_ jj‘_, J'._u:“Jé_/..: 4{)-/': _frﬂ‘bk_ﬂima-g_}"..-u‘d’d.f.{, Sk | v L./,qu;/!:uhc._f Pt
Note %B\J:l four choices for each objective type question as A, B, C and D. The choice Jf J"/}..,ury
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

t..JJ

Q.No.1 1 f,UJy
(1) The number of terms in a standard quadratic equation -..;.)u;(,(uﬁ/uf ax’ + bx + ¢ =0 =hleglaonn (1)
ax*+bx +¢c=0 s
(A) 1 (B) 2 (€)3 (D) 4
(2) If o arethe roots of —csle af ?unujui Ixl—x+4=0x=bl 0 B /’l (2)
Tx'—x+4=0 then af is:
(A) —= @ 2 © - o)
| | 7 7 4 7
(3) + - isequal to: (3)
a B | | | o P
(A) — B) —~-— (€ ) =
o a B aff
(4) Inaproportion g:b::ec:d . a and ‘d are called: LW d s oa (4)

(A)Means ¢  (B) Extremes ¢/ (C)Fourth propomona! ot L{&% TD\) mea qf’these_‘,.j“dfc_u’u

\\ -
~" A\ \\ | 7~ \, ’\

5 | W\ [ (G20 1 f
(5) If 3" o - then AN [ = S yre— S (5)
x o A\ \/ WY W = 4 X
@y = O\ \ Q@) 20 Y= (D) y*= Ky’
(8) A fraction in whlchlh degr e'of | -?JU{( n/'/Lutzc..wicfmﬁkﬂﬁu*u’,/ (6)
the num s%( iq\gﬂé‘a rci'equal to the degree of denominator is called: (A) A proper fractlon/ 21
)\E }anroperfractlon /_:h- (C) An equation &= /s— (D) Algebraic relation J’U}l
(7) Aset Q= {EI a,bez b= (4 is called a set of: -.Lé.t'l.l'.f-"-_‘_’ Qz{gla,b eznb ¢0} (7)
5 -
(A) Whole numbers :uU’c {B) Natural numbers /s
(C) Irrational number .»wJ”L'/-!' (D) Rational numbers :le”t
(8) Power set of an empty set is: PRI O™ (8)
(A) © (B) {a} C) 1o, 1a}} ) 1o}
(9) A histogram is a set of adjacent; F Ma;r‘,ﬂu}( (9)
(A) Squares KUsls (B) Rectangles §U&*" (C) Circles §Us/b (D) Triangles Ku#"
(10) In a cumulative frequency polygon frequencies - Hgg-'}l.i{ Sl se L wuyfdw&ﬁ (10)
are plotted against: (A) Midpoints  bEJk~s
(B) Upper class boundaries J:ML?U.JUL_. (C) Class limits se(ln (D) Lower class boundaries :mJ’L?.u_’;J
(ﬂ) secO cotB = o sech cotf = ) (11)
1 §
(A) sin0 (B) ~—- ©) —— o A,
cost sin0 co SQ/? \
(12) A chord passing through the centre of a circle is called: K/ r_ﬂ?&' U;h-ﬁr&:)//igxu (12)
(A) Radius (1 (B) Diameter )z”\ 46?@;&9 h\( J‘tf be)’ scant Cbk
(13) A line which has only one point in com\ﬁ‘gn wit \aﬁ,cje |§ qa\le\d\ ,y_j.l, r:ffﬂﬂ-f.;/afvg;../l:fu”»ﬂ (13)

(A) Sine of a circle ~Sife KW ~\ V { \\ \&: \ u{fBj CBsme ofacircle Cosine Ko 71
(C) Tangent of a c;r@e fahg@ht‘ B ‘XF\ ) (D) Secant of acircle  Secant £ 71

(14) The length ofa\ch anq\ \\'_'-, - -§x AT = 2 dw//uvuognw,u Ihka Ll (14)
thfxﬂ@ﬁf@rﬁ j\o éPmrcIe are congruent, the central angle made by the chord will be:
(B) 45" (C) 60" (D) 75° .
115) Aline intersecting a circle is called: -;ru{w/é”f;}b (15)
(A) Secant c"b"{p' (B) Tangent (C) Chord s (D) Diameter /5

30(0bj)( *)-2022(!\)-50000 (MULTAN)



[PAPER CODE 2022 (A) AN A
NUMBER: 3193 SSC PART-I (10th CLASS) ,;4\@2/

f\ | | .// \ NS Z .
MATHEMATICS (SCIENCE GROUP) @sgdu? 1T\ f\ \\ WO (o S G
v\‘ \ \ M\ \',| Ll * .
TIME ALLOWED: 20 Mlﬂyfe\a‘ﬂ \ V{ ‘DBJ’ﬁb\‘I’WE S0 w20 = =
MAXIMUM WAL S 15 =
_,L; M RK\S}'ﬁ& \ L’JJ\;J L,‘:/JZc_Jél/L_J‘r//Lé_FUI:’ & D s CB:A ...,U_?/GAPLL,J';’/ _f:,":/‘{
_/"d’[/"ulfJL./( J(J:/l' ,b’j:ﬁr"bh_lima(_}‘u;ﬂ{;d_,/c' /r..ab/ L A_IJUU'JMLJLJ . =)

,&r

Note wave four choices for each objective type question as A, B, C and D. The choice _J/r J’/;_,wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER. .
Q.No.1 A Ay
(1) Aline which has only one point in common with a circle is called: _g_ttl,er ot SHB L 3PALe PES L (1)

(A) Sine of a circle  Sine e /i (B) Cosine of a circle Cosine b /s
(C) Tangent of a circle Tangent ¥e /i (D) Secant of a circle  Secant ¥ 71
(2) The length of a chord and _Bn ,3!1‘6}}1}1;@;}; _ugz.lxuggig{u’#msl};uf;/’b.ﬁ (2)
the radial segment of a circle are congruent, the central angle made by the chord will be:
(A) 30° (B) 45° (c) 60° (D) 75° N
(3) Aline intersecting a circle is called: e b (3)
(A) Secant &b (B) Tangent U\ (C) Chord s (D) Diameter 4
(4) The number of terms in a standard quadratic equation _;:_JU.JJL)JJJ ax’+ bx + ¢ =0 bl il (4)
a’+bx+c=0 s
(A) 1 (B) 2 (€3 . (D) 4 (7
(5) If o , P arethe roots of it aB :Urujw\& %x > :c + .4 3;\0 L3 (8)
Ix'*=x+4=0 then af is: ~ ' \ N “ ( “;_”/\.‘
1 e ) ) .“ -4
(A) ] | , (D) 7
@ 41 equai to: \ "" it = +Bl (6)
\ o
* b \{\A? jg \“ J‘ S\ - () o - B (D) a + B
I\ N l aff af
(M) Ina pJoportlon a:bic:d, g and d arecalled: gl d o soa Loa ShENE d rl )
A) Means et (B) Extremes uﬁ’) (C) Fourth proportional 2 (D) None of these e L
@) If ytec . WL ]
¥ o« — then -yt — /I 8)
x 2 K 2 1 2 2 2 __ 3
(A y'=— B) y'=— C) y=x @) ¥y =K
(9) A fraction in which the degree of -g.[}lkf ﬁ/f/LuLJr_,w[.b f;wl(w‘f kﬁuf(f / (9)
the numerator is greater or equal to the degree of denominator is called: (A) A proper fraction /...oi:
(B) An improper fraction /.,al;/f (C) An equation =L~ (D) Algebraic relation de/_;,
(10) AsetQ:{%M,be zAb# 0}iscal|edasetof: -q_t‘lk@:'Q: {Ela‘b eznb# O} (10)
(A) Whole numbers :LwU"‘: (B) Natural numbers Jlﬂ'&lj
(C) Irrational number )lx«fvj’t/_-f' (D) Rational numbers J|j&"}bt
(11) Power set of an empty set is: _c_rrw.uw._wdb (11)
() ¢ ® {a} © {o.{a}} ~ }’w”
(12) A histogram is a set of adjacent: \/ "“;:; '\. ,‘ \f\ /_*.ia/c_.cr.,—'d{ (12)
(A) Squares KU»l, Recta@es u#{’”\ \C\)\ O{rkles\( 3}%. A D) Triangles W
(13} In a cumulative frequency Qo}ygon freduén)cl % \ K \ *%%U)‘w,‘:‘tﬁm :leai/ﬂwul/fdwdﬁ (13)
are plotted against; (—)‘ \ \‘ . \(A) M ts \ Md\?’n
(B) Upper class bguhd?he,\s :i(u\umdu}t (f: Class limits :mu’L’ D) Lower class boundaries »»&“Lzu_f{;
5cc6f§?\j:l\ J.‘l@_i A | 1 sgc% coth = (14)
sin
®) Goso ©) Sine D) ost
(15) A chord passing through the centre of a circle is called: - nbf/:uu;//;)/ég,/ (15)
(A) Radius 1y (B) Diameter /‘3 (C) Circumference k¥ (D) Secant (‘f’bb

30(Obj)( TE ¥¢ )-2022(A)-50000 (MULTAN)



PAPER CODE 2022 (A) s, 9

P U

NUMBER: 3195 SSC PART-I (10th CLASS} \ (@ ’«‘\)\ \\@

\7 \’41/\ Z s .
MATHEMATICS (SCIENCE GROUP)QG/ROUP T\ 0 \ A7 _,,f (o] F) Fu

\
TIME ALLOWED: 20 I\@Gﬁesﬂ \\’\
MAerUM MARKS; 15\ |\ | \B! B R 15 =
= 1.)5{ Jd;»r&.:v.m,a.u- s s Wl g g 6012 r £ 5 D i C B A 2l iy
.\\’I‘}\/ b ’u- :(u*_,n“'JL_/‘:/ )ru,/b _gf!'udbj&..—[.?auau*u/}"gd_/’/ Jog L./'},}(L)JIIJHLJL_J &
Note: you have four choices for each objective type guestion as A, B, C and D. The choice -u_/ J’.Jj;uulr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

\ QB;‘JE‘GhVE' o o 220 =

=43

AF

subid

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not fiiled. Do not solve questions on this sheet of OBJECTIVE PAPER.

(8).

Q.No.1 R
(1) AsetQ = {Z—i a,bez b= O}iscalledasetof: ~{_bticf_*{ Q:{%| a,bezn biO} (1)
(A) Whole numbers ;ung); (B) Natural numbers :Lulg]u."’
(C) Irrational number ;l,wl‘}"t/f (D) Rational numbers .-wIJL'L'
(2) Power set of an empty set is: ~ebrrnlbirdi (2)
(A} ¢ (B) {a} ©) {¢.{a}} D) {¢}
(3) Ahistogram is a set of adjacent: - Mr_mf/& ¥ (3)
(A) Squares §Ur, (B) Rectangles §U&* (C) Circles ¥Us/ (D) Triangles (s
{4) Ina cumulative frequency polygon frequencies e bl el Sensttken F a5 (4)
are plotted against: (A) Midpoints s (ks
(B) Upper class boundaries ;w;_:"Lzéug (C) Class limits Jw[ﬂz Lowepclass boundarfes :J{:Lﬂ?un
(5) secO cotd = . /——\\}‘\';\\ f ,"\,/’-f} ‘se’c% cot = o
) ‘et TUW QN A~ sin
(A) sin0 _(a) 55361 \\ \ bg.s_;]_g |/ (D) or
() A chord passing thrcug@ the eepffe«af a mrc\é\@ calledf 3 FM}:U!;J_J:'Q_?}L;}I: (6)
(A) Radius (1 \ \\ fB) Diameter y (C) Circumference L (D) Secant (‘fli‘}?'
(7) Aline wmch Ta\ﬁbu prrevpamt‘m common with a circle is called: -%Wf N W (R Y DR < IE (7)
aturcle Sine € /s (B) Cosine of a circle Cosine K7
\"(C) Tangent of acircle Tangent e /i (D) Secant of acircle  Secant g s
(8) The length of a chord and K IS TPIsE e 5y AT e Ll (8)
the radial segment of a circle are congruent, the central angle made by the chord will be:
(A) 30° (B) 45° (c) 60° (D) 75° i
(9) Aline intersecting a circle is called: . l:ik*@p’l:/é”f;/’f: (9)
(A) Secant Gk (B) Tangent ¥ (C) Chord Js (D) Diameter 4
(10) The number of terms in a standard quadratic equation _c‘_:rﬁJuJ)ui ax’ + bx + ¢ =0 ablglefon  (10)
a’+bx +c=0is
(A) 1 (B) 2 (C)3 (D) 4
(1) If o , B arethe roots of -l ofd ?umﬁuf. Txl—x+4=0=blb B « aﬁ (11)
Ix'=x+4=0 then of
= ®) = ©2 o =2
L ] 7lt : ! W ] (12)
(12)  — + — isequal to: ¢
ol | 2B 1S\ rix Ja'p
(04 o M\ - -‘/(-G. ; J 1" ./ o Lf\\\
(13) Inaproportion a:b:c:d, a andd c g \\“ \\-V‘\éi.} ;"c\i’f;fa ot a.b.. d b (13)
| \ Ve
(A) Means % O@) Extre = \ \iluh bmpaﬁtonal —E@: (D) None of these L& L
A\ '-‘ \‘ M\ \ \/
(14) If y?ec —then o ““"\‘\'v i yzocwl? A (e
|\ 2 | 2_ 2 s
\\p |\| ®) y'=— (©) yi=x (D) y2= Ky’
(15) A fraction in which the degree of -4‘-3»{ gl and bbbl (15)
the numerator is greater or equal to the degree of denominator is called: (A) A proper fraction /...oi,
(B) An improper fracticn ’/-:'?r{/:z (C) An equation = lsl~ (D) Algebraic relation uwd/-"’f

30(0bj)( I I ¥<)-2022(A)-50000 (MULTAN)



PAPER CODE 2022 (A) O ey
NgMBER: 3197 /

MATHEMATICS (SCIENCE GROUP) aa;aeum i,_" y 5;’—;«5 (_?,,f ) P
TIME ALLOWED: 20 M@J\e‘sm"f , \,\ N OBJEETIVE u"’:/",e? e 20 = =Dy

MAXIMUM MARK s\g \\ VU 15= AF
’\J{ >{ &2, - ‘F._»r;)c_,j QJ/U¢¢_:4.L«_‘/_ |r'//d(d‘i’ JJ&.JDJ-‘C B A._,Ufj bcCJfr/ Y

2% ) _bLJJM/dJrL/r.VJ}’JLJ(L-IJJ ju,/ wga:’u‘“'bk,.-l;’nu.«d'\_afoc/,g Sy L L.fd:_,uﬁnﬂ;.:_._f‘ o
Note: you have four choices for each objective type question as A, B, C and D. The choice -] oL J")/,ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Inaproportion a:b:ic:d, « and d arecalled: -u_ri.il:’/ d s a K abic:d —F (1
A)Means &  (B)Extremes 2/ (C) Fourth proportional £ (D) None of these (e 2
2 1 B 2 L 7
(2) Ify’oc — then i yle— (@)

X
(A) y'= f; (B) y'= % (C) y*=x’ 0y ¥'= Kx'
(3) A fraction in which the degree of g el /";,,K,,J?L»‘JJ/ (3)
the numerator is greater or equal to the degree of denominator is called: (A) A proper fractlon/_pu
(B) An improper fraction /__zl:/-f (C) An equation = /st~ (D) Algebraic relation de/r
(4) AsetQ ={% a.bezab# ()}is called a set of: -.:_tM,x Q= {/—ﬁ%be zAbh# 0} (4)
(A) Whole numbers Jlle[ (B) Natural numbers ;wdm ( "/
(C) Irrational number &/ Ftd (D) Ranonamumtxerss ,«:JJ?L
(5) Power set of an empty set is: AT LA J _Lrn.‘._mgr_»;du (5)
(A) ¢ O\ \s ’C>{¢,{a}} )13
(6) A histogram is a set of adfacent \\ VL E: M,_i,f)&( (6)
(A )Squar s\ ﬁ\ O\ " (B) Rectangles §U&* (C) Circles s/ (D) Triangles Kur‘"
(7) I ‘a b@\e fi*Equenc:y polygon frequencies -cl-_t’.gyfqu;,;ﬂg}&'udi Letd Lo F s S (7)
are plotted against: (A) Midpoints L@ng
(B) Upper class boundaries »»G'LZJJJL (C) Class limits »wla (D) Lower class boundaries u.wJ’L.’.u_‘"/J
(8) sech cotd = secB cotd = (8)
; 1 1 sinB
() sind & cosO = sinf o cosB
(8) Achord passing through the centre of a circle is called: -< W:'KP,-U‘.--"—AJL }}JLL sl (9)
(A) Radius (/1 (B) Diameter % (C) Circumference L& (D) Secant (’ft?{»‘
(10) A line which has only one point in common with a circle is called: -« ol B LA L IS (10)
(A) Sine of acircle  Sine Kb (B) Cosine of a circle Cosine §e /i)
(C) Tangent of a circle Tangent &e 70 (D) Secant of a circle  Secant 6 /s
(11) The length of a chord and b AJIJQ//U'JLc_/ﬁ _y/l/ubUJ s Sreen Pkl (1)
the radial segment of a circle are congruent, the central angle made by the chord will be:
(A) 30 (B) 45° (C) 60° (D) 75°
(12) Aline intersecting a circle is called: -c_rMbt‘ff’fa—/’J (12)
(A) Secant Ziks (B) Tangent U\ (C)Chord 75— (L[g)@;ame}ar\ \
(13) The number of terms in a standard quadratic equangn _agy?;,(\;(ﬁ% ,v'“f ‘?‘r\\ \x:\kf:_}:x |3l/’dJLVJJJJJ (13)
ax* + bx + ¢ =0s - Q A . .\“ \,\'\ \; \\ "\“\\. "' (A2
(A) 1 . fLB\ o7\ ( ; \j\\;‘@)haﬁ - U (D) 4 )
(14) f «w , B are the\raqts o‘f“ e “ ~ \ \\{:(1 ap )Uy'u'ju.__ Tt x4+ 4=0=bt- p i (14)
T’ —x+ 4= 0 theh um\ s\ \ Pl
\J m = - 4 7 -4
W RN \i\v ® © 1 © = |
(15) " + E is equal to e 4l - Il (15)
)~ G- ] 0 &P
o o p of ap
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2022 (A) m 3D

SSC PART-Il (10th CLASS)
%THEMATICS (SCIENCE GROUP) GROUP-I \i\ </th ®) \C._,,J wv) ‘ﬂ,

TIME ALLOWED: 2.10 Hours m SUBJEC‘F \FE £210 = B
'\ ‘\ \ I ‘ Q/ \\ 5
MAXIMUM MARKS: 60"\ .~ 4 A 60 = ASF
NOTE: Write same quqﬁ\a &l\n\y - Luu"L/.JIrJf?éb/:/u"ul/d!rgﬁugé(dlﬁ oy
awd\ﬁé\\ﬂ% H\l ron answer book, as given in the question paper.

SECTION-I &

2 Attempt any six parts. 12=2x6 ~§"f-f,/f::‘-«'y‘:?£l'z?l{c_tjf _2 41
(i)  Solve by factorization. x’— x —20 =0 ¥-x-20=0 ESSA2s ) -
(i) Define exponential equation. -ci'r»é’/’j'of-"a‘!l/tju-‘:«; (ii)
(i) Solve by using quadratic formula. 2 — x* = 7x 2=t = Tx S Il urbGsn i)
(iv) Find the discriminant of given quadratic equation. 2%+ 3x=1=0 -g.—’r}yu:ﬂ/d/'(u;v&u» (iv)

(v)  Without solving, find the sum and the products of x> — 5x + 3 =0 -éf( .:,/"’J”imlﬂfKﬁ/ﬁéd’fghbﬁu» (v)

the roots of the quadratic equation.

(V‘) Find the cube roots of 1" . - ) /: E‘?"@uﬂb» g n 1" (Vl)
"2 ‘v\‘l P I-\ (,_ﬁ\‘.\:’/
~E e S (vil)
(vii) Find 'x" I;f\\ﬂ\q;f :‘;__‘ .5_\"‘\" A _‘_ﬁ_‘,fr}” x! g 6:x1u3:5 ) (viii)
\\]‘\] |\\J|\ \
I- . . ]
(ix) If Ac— and 4=2 wA=T2 BEA ey 2 A=24 A= S (1)
r r
when r =3, find 'v' when 4 =72
3. Attempt any six parts. 12=2x6 -é_/f_,u?[.l?rb’c.&f _340
() Resolve into partial fractions __1-1---. _ZJA.—J“A/J;J 0]
x' =1 ' p ooy )
(i) Define partial fractions. BTy ATy S ()
(i) f X=¢, Y=2" thenfind X|J¥Y ek XUY W o Y=20 c X=04 i)
(iv) FA=1{0,2,4}and B={—1 3} thenfind 4 x B -ér,w,q x BixB={-1 53\@\5\3; 10,2,43/ (iv)
' ’6 \\f
“ o jC
\
(v) Findthesets X and Y \;\X\;;,";\ﬂ\ \Y@\ \(q }ﬂ w a)} __éﬂ" Y o X 2 (V)

”‘\'\ N \J\* o
(vi) Define a function. _ \\\ L\J\ .._é...gfg(d‘w (vi)

{vii) %QW\wls%bunon -,éwarI’rd:w (vii)
(viii) |te two properties of arithmetic mean. -46:,1_»#’.3;JMIQP (viii)
(ix) Find the range of the following weights of students: véf}”' ( C; ) wJuU;iLfyuui,pp (ix)

110, 109, 84, 89, 77, 104, 74, 97, 49, 59, 103, 62
( ﬁf O )



%6 (2]
4. Attempt any six parts. 12=2x6 Yij i%.:-, & -4/dlr'
= <>
(i)  How many minutes are in two right angles? B [ r/( Y @/u J@er.fi/gﬂuhl)ub» .(I
0 /3 DL
| QAN o .
(i) Find tan® when c@\ &(\am \\ s\ \ (J‘” tane imﬂdxe’.?mdwtf 6 o cosb = ?47 (i)
terminal sndsmﬁjain(q\e\ 8,4\3’|n “ourth quadrant.
(i) P)\Q\Qe\é\( 1-sin’0 ) (1+tan’0) =1 (1-sin’f )(l+tan’f)=1 IL,-_‘f.:/,L* (iii)
(iv) Find '»' when £ =352cm, 0 = 45" f=52em, 6 = 45”.&_%:/(}”&2‘; v (iv)
(V) Define Acute angle. _4ﬁ_.y/‘7¢;,ﬁ;am (v)
(vi) Define tangent to a circle. -z_fq.y;{!guégiu (vi)
(vii) Define circumference of a circle. ,uf’d ) fJb{&g}h (vii)
(viii) Define the escribed circle. ,,;.ﬂa_yﬁ&ﬁmjng (viil)
(ix) The length of the side of a regular pentagon is 5cm. Find its perimeter. ?:l_ng:beu’l -5 dUJ&"&u’?”uﬁ (ix)
SECTION-II (23222
24=8x3 L $l 9/"U'r‘u~d_/ﬁ_«£’i¢':uwxu’c..d/ e
NOTE: Attempt any three questions but \questmn No 9 Fs;compﬂk/m U
m o 4 \ \O' -
5(A)  Solve the equation 2x + 5 = /7x +,]6.-(‘ )‘ /.;\ \,“.‘\ ' “' ‘\\",l‘ ( ‘\‘_‘"' 5()’/@7}// 2x +5=Tx +16 =bie ().5
\ \( '\A A
®) If o, \ '-)-4E FunL 4 - 5x+6=0 e B oo S (L)
\ \ \ AL a
‘\
roots otyﬁlgﬂ@ |oﬁ 42 ‘Sx s 6 = ( then find the value of _ F =
\\]‘\] |\ I\ o
5.(A) Using theorem of o x= Az fl_é(}"‘w’d/ e i}’ S ;Z LYL/JWIJMJ/ (-6
y+z x—-2y x-12z
componendo-dividendo find the value of Ak o 2 if x= 4ye
x—-2y |x-2z y+z
(B) Resolve into partial fractions —1——~} UV — ﬂé Jy utfz/d:i (&)
(=D (x+1) (x—])(x+l)
B={1,4,710 s A={13579} . U={1,2,34 ~~~~~ 10} /1 (L7
A U ={12734 ————— 10}, 4={1,3,5{7,9} B—A=BNA SZE=tin
and B=1{1,4,7,10} thenverifythat B — 4= BN A )
(B)  The following frequency distribution shows the wejghts &= _‘qu}u;f ((l);{)uijﬂﬂufﬂ:lrd it (L)
of boys in kilogram. Compute the mode.
Class intervals 1.0 (12 1-3 4-6 7-9 10-12 | 13-15 | 16-18 [ 19-21
Frequency ciw 2 3 5 4 6 2 1
, . .1+ cosb sing | 1+ cosB ) :
B.(A)  Verify the identit = V@.&,eﬂ)u (-8
) v Y sin@ 1 + cosB - [ l)@b 7&:&
1R -us |CA| = 3 1 |B( |—\? eﬁ,@@ M;J(I@X /ruur ABC alfol A g (L)
\
(B) Escribe acircle op@s %4¥jn§f' BC with sides | AB| = 6cm, ,é?»}”‘fgl»
| BC‘ H\g‘k ¢ fnd its radius also.
9. \J chords of a circle which are -u_?Z_anb"“(TgunJ-vLﬂfd:ur_f/ﬁ}:uéz_/’bfq/ab‘ -9
qmdmtant from the centre are congruent.
OR | .
Prove that any two angles in the same segment -IJ_?'L!K'/.l/.("!;l_)ﬁd})wsjbﬁﬁﬁugﬁdr!de__/rn‘.'d:b
of a circle are equal.
32-2022(A)-40000 (MULTAN)
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PAPER CODE 2022 (A) /¢ Q/v) Ay

NUMBER: 3192 SSC PART-ll (10th CLASS)d I

MATHEMATICS (SCIENCE GRqu) GG @Tg\\ (\\ j 3/:‘?_,; (..;,f ) L
TIME ALLOWED: 20 M@J\\ﬁrﬂ,\ \\/\g B 4 | 220 = &h
\

MAXIMUM MARKS: \ 15= A
Ja N f”@'fi..«'f.-u;.y- u sl A.,Ja‘_L«;Jlrf/dﬁ’du ...J'Eff_; D . C:BA _.LJP.fJbLJIr/ Y
{2 =B bl g_."/dfu-._ﬂr"d._/, :usm ,.vau-db»ulim,u_}"..au‘ua_.f Jok L L..J,;fusﬂ:ulzc_-—f‘ ot
Note: you have four choices for each objective type question as A, B, C and D. The choice -/ s J"/”m_,mr
which you think is correct, fill that bubble in froiit of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER. .
Q.No.1 A Ay
(1) The quadratic formu]a is: . e Ui (1)

-bt+ ‘jb - 4a(‘ h+ \/bz — dae = ’h + 4L7C‘ b+ b+ dac
Wrs——0——— @w=st—— Q)Fe—— e Ply=———
2a 2a 2a 2a
- 4 7
(2) If o, B aretheroots of < of Sl Iyl — x4+ 4=0 b B o @ (2)
7,\"1' —x -+ 4 =0 ,then (‘)‘.F) is:
-1 4 7 -4
(A) = {B) ¥ (C) i D) —
(3) Roots of the equation4x® — 4x + [ = 0 are; _ugd_uiz;x? —4x +1=0=bl (3)
{A) Real, equal d”? el (B) Real, unequal d" st (C) Imaginary 4,?0,-7 (D) Irrationa[ J”t/{
(4) The third propomonal of x* and V is: _r__/bi/'b’ -,\ S (4)
4 vy s /j /(K
B) x y° gy £ \
8 3 “\ ( »/L \\\r a /C/ \ ,3(@
\ 0\ \ AN _/z.;_.»y Wi a:bh=x: V/' (8)

(5) Ifa: b*r ¥, then altemando property is: () \
Ty 78\ (0 W 3 a-b_x-y

| I S e C
\"+ ] x'+ 1
e D(x+2) ®)
n /_.,w (B)An lmproper fraction /J!-/-‘ (C) An identity « ebls (D)Aconstant term f)f"’
Ifnum rof eiements in set e QISR Ax B 4 2 B or a3 St 4 2 ()
is3andinset B is4, then number of elementsin 4 x B s
(A) 3 (B) 4 (C) 7 (D} 12
(8) The domain of R = {(0. 2), {2, 3), (3, 3), (3, )} is: -‘;_Jn Dom R R ={(0,2)(2,3),(3,3), (3 4/ (8)
(A){0.3. 4} B){0,2,3} (C){0,2,4} (D) {2 3,4}
(&) Mean is affectd by change in: , -f_erMﬂ::_i.. M el (9)
(A) Value =4 (B) Ratio = (C) Origin i4/&" (D) Number sx
{10) The extent of variation between two extreme observations - gffﬁ)i.:.u&l?l;f)lf Lfr (10)
of a data set is measured by:
(A) Average bl (B) Range =+ (C) Quartiles .(Ulz (D) Dispersion S
ay 1 1+1=<m
[ +sin@ | -sin® _ I +sin® 1-sind
(A) 2cos’0 (B) sec’0 (C) cosb 2sec 0
(12) A chord passing through the centre of a circle is called: __H X/Z../i: (12)

(A) Secant ’*Gb‘ (B) C;rcumference b (Ci@\{ ~‘ é
{(13) Two tangents drawn to a circle from t\ \\ g \ % ‘OMJ!/LK_/UJ (13)
a point outside it are of in Iengt \ \f/\ QA\\/V\

(A) Half i< (C) Triple qu:’ (D) Equal 4t
(14) An arc subtends a cen ravlg :\gs et sl e A0 ST (14)
the Porre I\Jsu\bfend a centrai angle of.
@gk ) 60° (C) 40° D) 20"
{15) How many tangents can be drawn fromapomt outside the circle? £ a‘; fb’.[c..bﬂ;tﬁ.:./h (15)
(A} 4 (B) 3 (C) 2 (D) 1

32(Obj)( 77 }-2022(A)-40000 (MULTAN)



PAPER CODE 2022 (A)
NUMBER: 3194 SSC PART-ll (10th CLASSL

"\ @Rt
MATHEMATICS (SCIENCE GRQ\UP)JG(BBUF A1\ ﬂ \\ i /f*i‘tf (.,,/ S Fu
TIME ALLOWED: 20 r\@utew,\\\ /\\QB;IE\STNE f w20 = &y

MAXIMUM MA KS\l 5\ \\ \L) 15= A
/;:_u' oy Muw._m.;u* Ui s WL v 6012 - p£E 5D 51 C B A ezl S
\Q,\ \E’f__lat ﬂ/d}(u‘vlf&d.ﬂ/~4 ){)5/!) ff;r"bkuli’auagf'_xfdﬁ_/r/ Jo¥ L d_/,:ru:/bwbr.\.f ey
Note you have four choices for each objective type question as A, B, C and D. The choice _J/ J’/j-uﬂlr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that questicn. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 1 A
(1) The domain of R = {(0, 2), (2, 3), (3, 3), (3, 4)} is: ‘{_.Ljﬁ’ Dom R PnR:{(0,2),(2,3)’(3.3),(3,4)})7 (1)
(A) {0.3,4} (B){0,2,3) (€){0,2,4} D) {234}
(2) Mean is affectd by change in: -r_t'r/ul/lca_/U’y an__SLP (2)
(A) Value ot (B) Ratio o {C) Origin &\ /& & (D) Number 1%
(3) The extent of variation between two extreme observations _J.?a./fﬁf-ﬁ;«udl?"&lfu; (3)
of a data set is measured by:
(A) Average b (B) Range <~ (C) Quartiles ,«a?u’:ifg (D) Dispersion S
] 1
A :lsine ¥ D ime N [+sing  1-sno

(A) 2cos’0 (B) sec’ (C) cos -*'.\"':\\ 4;9)’32\??%7
(5) Achord passing through the centre of a circle is called; = »/’_f‘ ‘l \ (/ @%WJLJLJQLL/I) (5)

(A) Secant ik (B)rC|rcuq;xak\fe}fez’Jg:E\i:-ﬁh ‘\ (G) Rad‘il.]s\\dbz (D) Diameter 5

() Two tangents drawn tnaclrciefmm \\ \,-_;:Lr LJQLGUJVZZ‘:’HLMG sadl e ]l (6)
a point outside it are 61‘ \\ n Iength NS\B
(A) Half H”"\J 3.‘~. ' (B) Double b (C) Triple /2 (D) Equal .z
7 A Qqq:‘éﬁq\ér{ésé central angie of 40°then by ,:le/KF:WLJI “= 40" ,_,;Ud}(/KJ:U,’J (7)
t\e‘cbrrespondlng chord will subtend a central angle of:
(A) 80" (B) 60" (C) 40° (D),20" ~
(8) How many tangents can be drawn from a point outside the circle? ‘.‘u_riig;zif JV&;.&P}:L&;./’!J (8)
(A} 4 (B) 3 (C) 2 (D) 1
(9) The quadratic formula is: ~e b (9)
5 fr—— e T ——
sk JBP= b b -4 ~b+ b% + dac + /b + dac
(A) x = e L (B) x= bt b~ dac (C) x = e T (D) x = b yb'+dac
2a 2a 2a 2a
(10) If o , B are the roots of -z af Sl I~ x+4=0 =i p « o g (10)
Ix'—x+4=0 ,then off is
—] 4 =
= ® - € 0 —
(11) Roots of the equation 4y’ — 4x +1 =0 are; * -uguj_uiz;xz —dx +1=0xblr (11)
(A) Real, equal & iz (B) Real unequal F st (C) Imaginary F (D) Irrational (#t7
(12) The third proportional of x> and V° is: -r_._/l;ﬁf\\y A X (12)
yz K;_‘\ r(;; @l\( \.7 \
A GRS Ch \ [0 \ o8B ¢
(13) fa:b=x: y, then alternando pro&rty i€) - A r \ \\ \ H /‘c..ux’ Eul;’y a:b=x:y/i (13
a_b \ 70\ W AU */ a-b x-
A - T\ ; Va/ \E\\&_jm. c arh i oy D a-o _x-Y
x+l \\ \\\\l‘v.,,"’J ‘ X +1
( L S o4 (14)
(\\I&\Qj\%i,’) ; (x-1)(x+2)
ction /..)ls B) An improper fraction /..)l:/-‘ (C) An identity =t (D) A constant term /,JM
(15) If number of elements in set A _f_d I»fd/uWJ AxB Jwd LB ir i3 JWJUWU. A ..zﬁ (15)
is3andinset B is4, then numberof elementsin 4 x B is:
(A) 3 (B) 4 (C) 7 (D) 12

32(0bj)( T 7¢)-2022(A)-40000 (MULTAN)



PAPER CODE 2022 (A) /:Uu

NUMBER: 3196 SSC PART-Il (10th CLAS,S} \ ﬁ)ﬁ

f(/

MATHEMATICS (SCIENCE GRQUP};\GRQMNM \ \ \f/,; 3 .,,/ (o ) Pl
TIME ALLOWED: 20 !@h’i\u\aef(',‘/r\ \\ \& \OBJECTIVE u'”;/”,e? e 20 = =
MAXIMUM MAF\TSJ 15 \§ WA 15= Af

b, 3&«.‘/.._,!?..—0):.\_)" Us sl Jiz_:éﬂm.dir;/d(dli u"rf.:_J D s C:B:A u-’J”,ElPCC«LJ'V/' et
\T\ff}r f;bl f/deuJﬁJL/:/ }Lu “s byf/""blﬁylfuﬂu"u;:‘d/._// Sk L L./(fw/unl/:_..f &5,
Note: you have four choices for each objective type question as A, B, C and D. The choice ..J/ J’f;uu
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) If number of elements in set 4 -c‘_[}mfﬁ&ywuf Ax B 4 LB er a3 adfutist 4 \.‘af/" (1)
is3andinset B is4, then numberof elementsin A x B is:
(A) 3 (B) 4 (€) 7 (D) 12
(2) The domain of R = {(0, 2), (2,3), (3,3), (3, )}is:  -c-d Dom R JeR={(0.2),(23),3,0,G O (2
(A) {0,3,4} (B){0,2,3} (€){0,2,4} (D){2.3,4}
(3) Mean is affectd by change in: DS S S | R )
(A) Value = (B) Ratio =’ (C) Origin s /&" (D) Number 14
(4) The extent of variation between two extreme observations -u_}‘f_‘/fﬁfﬁouéqﬁlu@f{( (4)
of a data set is measured by: 3
(A) Average bl (B) Range =+ (C) Quartiles. ,ﬁdvt( ,&D”ﬂ?rsﬁersron JE
! l = ~ ‘7| M\{ Vi \W\\ \[ “ "/G \ll‘ ) } 1 =
& 1+sin® ™ | —sin0 : e \ “I\ -. ‘a "‘. e 1 + sin® " 1 —sin® ©)
(A) 2cos’0 3 \.‘ P {B /sﬁ-c 3'- '-, '»\/"'(ﬁ)_cosew'. (D) 258029/
(6) A chord passing through th\e céntre af a\ cﬁe s calied - UM}JUIJLJ}(L}'}LL,;U (6)
) Sec B\ b (B) Circumference L¢ (C) Radius (/1 (D) Diamen_ar o
(7) \T\/YQH\@QI;“BF whida mrcle from Yo aEUééyuLfigﬁ:J;EdeﬁL}i:uﬂ (7)
apoint outside itare of ______in length.
(A) Half s (B) Double s (C) Triple /et (D) Equal iz
(8) Anarc subtends a central angle of 40" then -elbx fsJJd}}?};Mﬁw - 407 ,;'Jd)}KJL_ﬁ (8)
the corresponding chord will subtend a central angle of:
(A) 80° (B) 60° (C) 40° (D) 20°
(9) How many tangents can be drawn from a point outside the circle? ?Lf.‘fi%gu"b"gaﬂﬁ'LZQ;U (9)
(A) 4 (B) 3 iy 2 (D) 1
(10) The quadratic formula is: ic_U@i_{y_ (10)
_—bxyb 4ac b+ b - 4ac —b+ b+ dac b+ \[b*+ 4ac
(A) x = \{a (B) x = —“\!—za—‘— (O] #= ——vvza—~ (D) x = ‘T
(11) If o , p arethe roots of -z of ;U:f;fjué ITxleax+4=0 abls B« /"f (11)
Ix*-x+4=0then of is
W= ® 3 © ©) o
4 ~U
(12) Roots of the equation4x? — 4x + 1 = Qare: mqu ERA =0 n (12)
(A) Real, equal 5’7 sz Reabunequ?i L,.\-;qrs(. (@1 | aﬁ;{W D) Irrational u‘l’t/-‘
(13) The third proportional of x* and \< I597) / \‘ \ \ ‘\\/\ B! L»’ -.f__«w/K y: ol % (13)
yz \ , \ \ \) \ - y X
w % o\ m\ CER )
(14) fa: b Zx: em\ Ieﬁahc}opmperty is: 4 -LJJU':*’ ab=x:y/  (14)
'\j'\“ é‘ @) L% © arb_x+y  pa-b _x-y
by b ¥ ¥ yx"'+l
“5) e "ﬁTxTiT'S' F o ey

(A) A proper fraction /21 (B) An improper fraction /257 (C)An identity k1 (D) A constant term ﬁxu
32(0bj)( I 7¢I )-2022(A)-40000 (MULTAN)



PAPER CODE
NYMBER: 3198

2022 (A)
SSC PART-ll (10th CLA

"(\! /r/
MATHEMATICS (SCIENCE GR(WP)%;RQUP*U N -)_,,I (o ) S

TIM )
EAuOWEozow&@§(\
MAmeMAMA §i%f\\\l

\\ \\OBJECTIVE u‘,/w

1

< 20

15

'J\E"L 12y o uuhafr ¢.LI<CJFY//L5KJD7 J"éf/_. D s C:B-A ..«U:’j}l:&d'&’/
/;&J&U (a_,buijdf;uff._uﬂjd./-/ ){,J/b ‘.f/n‘ﬂhku!:’» LJu/J“’JL/’/ T 9 L./.ﬂ,:(_) /lJn)Lf_._fl =
Note: you have four choices for each objective type question as A, B, C and D. The choice -J_f J’Jf;_«wr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

=3
¥

e

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1
(1) The third proportional of x* and y? is:
2
(&) = (B) x*y*
X
(2) If @b =x:y,then alternando property is:
b .
A === | 4-%
Xy by
Xl
(x -D(x+2)

(A) A proper fraction /._,ab (B)
(4) If number of elements in set A4

-éEL.-/U"/..'.‘K yz s x

gk _gtw oy EoR AR

’ . . ):;3+]
S [ —_
! “““"(x—l)(x+2)

) An improper fraction /..»"/ (C) An identity = (D (D )Aconstant term f/
e mlISUIE Ax B Tnd Blrs3s Mdu;;@ A e/

is3andinset B is4, then number of elements in A x B is: . ;»  (CALUV
(A) 3 (B) 4 sl rS\N N ( 5;\,'3-':‘1“(67’ 12
(8) The domain of R = {(0, 2), (2,3, (3, 3) (H@}‘zg?} .;f_‘d)f Dom \R wa_{(o 2).(2,3) (3,3), (3, )]0
(R 10,343 O / "‘-‘-;l"gg\sl\ A0 £0,2, 4} (D){2.3,4}
(6) Mean is affectd by change 111! _g_muu c;z_/djg o .wdl,v
Value DA N (B) Ratio J (C) Origin »L/C" (D) Number s«
The \th\m b %non between two extreme observations -t ;fxw&wd'l?iuﬂ'r tf
of a data set is measured by:
(A) Average bl (B) Range =+ (C) Quartiles .»J.A7 (D) Dispersion JER
1 1 1 1
® 14sin6  1-sin® [ +5i08 | 1—snb
(A) 2cos’8 (B) sec’0 (C) cosb (D) 2sec’®

(9) Achord passing through the centre of a circle is called:

(A) Secant Gl’ FL
(10) Two tangents drawn to a circle from
a point outside it are of in length.
(A) Half i<
(11) An arc subtends a central angle of 40” then

(B) Circumference 4¢

(B) Double &3
- {ve

_U_’;LH

(C) Triple W2
TR e 40" ISP

the corresponding chord will subtend a central angle of;

(C) Radius % '
LEG&GFu’b’zfifuaﬁdwﬁgﬂup

4§.FM}:U!:.5_/}2}"/£«.}!J
(D) Diameter #

(D) Equal 4«

(A) 80" (B) 60 (C) 40 (D) 204«\
(12) How many tangents can be drawn from a point outside the circle? AC /*‘\ }/";:‘_;'(MLM/LL_;I)
(A) 4 (B) 3 q)nxz\ \r | /'(” ,\\@r =4
(13) The quadratic formula i: A G ﬂ;\ K \ ; \\‘ x\ \ \ e U
A A_ZT?LE:E@T\,\ ’@\\(ﬁ _m E%\ 5+\/[7)T L L bx b+ 4ac
' 2 AL\ ) LA - 2a

(14) f o, B al \moéts\qf\\,v\ )
en of is:
N\ N\ ;

(15) Roots of the equa!tonclr —4dx +1=0are:
{(A) Real, equal d‘i gl

(B) Real, unequal J"} 4120 (C) Imaginary J"/

7 _
1 (D) —

‘ - af )’Uﬂdui 7x2fx+4:0 ehis B« a A

4

7
gl a Lax s 1= 02
(D) Irrational ul’tfj

32(0bj)( T Y TE T)-2022(A)-40000 (MULTAN)

1 /'.U’r

(1)

(15)
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